=~ ]

LOW PROFILE TO GRIP
FORCE RATIOS

Eight Bore
Sizes!

close tolerance jaw mechanism
minimizes jaw play

stainless steel cover
protects drive mechanism
and maintains lubrication

hardened steel jaws
provide male and female
keys for precise
placement of jaw tooling

shock pad standard
on all sizes for impact

absorption (except size 1) hardened steel cam driver

provides high grip force and
synchronous jaw movement

hardcoated aluminum body
with precision dowel

holes provides accurate
gripper mounting

proximity switches
available for sensing

jaw position
spring assist available for higher
grip forces or part retention
upon loss of air pressure
large bore size provides fluoro-elastomer seals are
high grip force to available for fluid compatibility
weight ratio
Major Benefits Industry Uses -
* 3 jaw design provides self-centering and maximum contact ¢ Assembly machine builders
between part and jaw tooling e Light bulb manufacturing
* Low profile to grip force and jaw travel ratios » Packaging
* Eight sizes available in both imperial and metric versions * Automotive
 Synchronous jaw motion ¢ Robotics

Golf equipment
Plumbing fixtures

e Standard male and female keys on jaws

* Spring assist on open or close available

* Part ejector option assists in part location upon release

* 1-2 day shipping

* 10 million cycles minimum rated life with standard seals
(includes spring assist units)

CAT-08

hd =0 _
P s[5 www.phdinc.com/grt - (800) 624-8511

OLUTIONS FOR INDUSTRIAL AUTOMATION



. SERIES GRT GRIPPERS

ORDERING DATA

Y91-¥ OL 6€1-¥ STOYd 33S
I8V TIVAY Y Sd3ddI49 INDINN

*siappe Joj safed
suondo pue uoisuawip yun 33g
*y1bua| yun yaape few suondg

€00-19GG1 | QYA 06¢-0¢ Qv papealy] ww g}
20019561 (821n0S) dNd papeslyL W gf | 87 ‘/ ‘9X 1YY
100- 196G 1 (uIS) NdN Papealy) wuw z|
80-25519 £0-25519 90-29519 G0-26519 0-2SGl9 £0-29619 20-26519  10-26Gl9  ¢0-900-¢ablG | (391n0S) dNd Ppapesiy) wiw g SRy
XgX1HD X/X1HD XOX1HD XGXIHD XpXIHD XeXIHD XgXIHD  XIXIHD 20-G00-¢2v IS (MUIS) NdN Papealyl ww g| ‘¢ ‘Z ‘IX1H9
HIGINAN LIX ‘ON 14vd NOILdIYIS3d HILIMS 3ZIS H3ddI49
S1INIVHE INILNNOIN HILIMS ALINIXOHd TYNHILX3 SIHILIMS ALINIXOHd TYNHILX3
SM8J9G Juawlsnipy 1864e] g ‘Malog wawisnipy Alwixold | ‘1biel Alwixold | :sapnjoul Iy 20-900-¢¢y 1S | (821n0S) dNd Papeaiy] wiw g 8%/ ‘9149
G0-908¢9 G0-908¢9 10-908¢9 €£0-908¢9 ¢0-908¢9 10-908¢9 10-908¢9 00-908¢9 | DNISOTI SMYI ¢0-G00-¢cv IS (quIS) NdN papeaiyl ww g _
¥0-G0829 ¥0-G0829 £0-G0829 20-G0829 20-G0829 20-G0829 L0-G0829 00-50829 |9DNINIO SMVF 20-200-0€¥81 | (92In0S) dNd Punoy ww S% v
XgX1HY  XIXIHD XOX1HY XGX1HY XpX1HY XEXIHY XgXIH9  X|X1H9 NOILI3HIa ¢0-100-0€¥8} (YuIS) NdN punoy ww ¢ ‘e 2 IX149
HIGINNN LIX "ON 14vd NOILdIYIS3Ad HILIMS JZIS H3ddI49
S1IM 1394V1 HILIMS ALINIX0Yd TYNHILNI SIHILIMS ALINIXOHd TYNHILNI
uado jsisse fuuds - 9 81-06829 80-068¢9 | ¢8XLd9
pasojd 1sisse buudg - g (sayoums eusaqul Jo4) /1-068¢9 /0-06829 | ¢ZXL1d9
33404 AAVIH Apeal youms Aywixoid -G BN - G 91-068¢9 90-06829 | ¢9X149H
3UON -0 3UoN -0 [3AeJ} plepuels - ¢ [euaduw - | G1-068¢9 G0-068¢9 | ¢GX1H9
SNOILdO 9NIHdS SNOILJO HOSN3S JTALS Myl J1ALS S3143S ¥1-068¢9 ¥0-06829 | ¢vXLd9
€1-06829 €0-068¢9 | ¢E€X14d9
¢1-06829 ¢0-068¢9 | ¢¢X1dD
L1-06829 10-06829 | ¢ X149
F c c c - F - N .q l—l I w IIH1IN  TVIHAdINI | HIGINNN
HIGNN LIX T3A0N
SHNVY19 439NId
Jauo)se|3-0ioni4 - g "ON N9IS3a ww 09} - 8 Mef 931y - | Jaddup - 9
(psepuesg) N-eung - | ww Gg| -/ 3dAL 3dAlL 19naoyd
EN 10308(3 Jed - | ww ok -9
3UON - 0 ww 08 -6 "S[eag pue
SNOILdO wwr-€9 - ‘suondQ “op ubisaq ‘9|f1g mer ‘azIS
ﬂm_: mw m ‘91f1S ‘adA] ‘saliag ‘adA] 10npold
ww /7 - | :Ad193dS "H3ado 01
3ZIS 3409

28

I ® n
SOLUTIONS FOR INDUSTRIAL AUTOMATION

www.phdinc.com/grt - (800) 624-8511

CAT-08



ENGINEERING DATA: series GRT GRIPPERS

SPECIFICATIONS SERIES GRT
OPERATING PRESSURE SIZING AND
STANDARD UNIT 30 psi min to 100 psi max [2 bar min to 7 bar max] air APPLICATION ASSISTANCE
SPRING ASSIST UNIT 60 psi min to 100 psi max [4 bar min to 7 bar max] air See PHD Product Sizing
OPERATING TEMPERATURE -20° to +180°F [-28° to +82°C] Catalog for specific and
RATED LIFE 10 million cycles minimum with standard seals (including spring assist units) complete sizing information.
7.5 million cycles minimum for part ejector springs Online sizing
GRIP REPEATABILITY Within £0.002 in [£0.05 mm] of original centered position assistance is available at:
CYCLE TIME See table below www.phdinc.com/apps/sizing
LUBRICATION Factory lubricated for rated life
MAINTENANCE Field repairable
TOTAL TOTAL CLOSE CLOSE OR GRIP FORCE FACTOR G¢
DIAMETRAL GRIP FORCEAT GRIPPER OPEN TIME EXTERNAL w INTERNAL
MODEL |JAW TRAVEL 87 psi [6bar] WEIGHT 87 psi [6 bar] DISPLACEMENT GRIP 0 GRIP @
NO. in__mm Ib N Ib kg sec. it cm? IMPERIAL METRIC IMPERIAL METRIC
GRTx1x | 0.236 6 44 196 027 0.12 .09 0.10 1.6 0.52 33 0.57 37
GRTx2x | 0.315 8 112 499 059 0.27 .03 030 5 1.29 83 1.43 93
GRTx3x | 0.472 12 168 747 095 043 .04 072 12 1.93 125 2.10 136
GRTx4x | 0.630 16 218 971 1.75 0.80 .06 141 23 2.51 162 2.68 173
GRTx5x | 0.787 20 378 1683 282 1.28 .07 3.00 49 4.35 281 4.61 297
GRTx6x | 1.024 26 569 2531 51 232 15 563 92 6.54 422 6.99 451
GRTx7x | 1.260 32 880 3912 875 3.98 .30 10.75 176 10.11 652 10.67 688
GRTx8x | 1.575 40 1452 6459 155 7.05 40 21.92 359 16.69 1077 17.52 1131
Minimum Operating Pressure is 30 psi [2 bar] for standard unit and 60 psi [4 bar] for spring assist unit.
HEAVY SPRING
Sk SPRING CLOSE OR OPEN TIME TOOLING TOOLING
SPRING GRIP FORCE  ASSIST GRIPPER 87 psi [6 bar] IN sec LENGTH WEIGHT
MODEL MINIMUM MAXIMUM WEIGHT WITH AGAINST SPRING MODEL MAXIMUM MAX. PER JAW
NO. Ib N Ib N Ib kg SPRING SPRING ONLY NO. in mm Ib kg
GRTx1x 9 40 18 80 034 0.15 .08 14 14 GRTx1x | 1.5 40 0.17 0.08
GRTx2x | 14 62 52 231 074 0.34 .02 .05 .04 GRTx2x | 1.97 50 0.30 0.14
GRTx3x | 28 125 82 365 118 0.54 .04 .10 10 GRTx3x | 2.56 65 0.72 0.33
GRTx4x | 49 218 110 498 215 0.98 .05 12 .10 GRTx4x | 2.95 75 1.25 057
GRTx5x | 118 525 232 1032 3.92 1.78 .08 16 12 GRTx5x | 3.94 100 265 1.20
GRTx6x | 193 858 341 1517 6.99 3.17 1 21 15 GRTx6x | 4.92 125 450 2.05
GRTx7x |[263 1170 498 2215 111 5.04 15 .36 .24 GRTx7x | 5.91 150  8.80 4.00
GRTx8x | 324 1441 591 2629 206 9.34 27 48 40 GRTx8x | 7.87 200 16.00 7.27

Spring grip force (Sr) varies with spring compression. The minimum spring grip force values occur with the spring at least compression
(jaws fully closed on spring close units and fully open on spring open units). The maximum spring grip force values occur with the spring at
most compression (jaws fully open on spring close units and fully closed on spring open units).

TOOLING LENGTH FACTOR

Tooling should be designed so that the grip point is as close to the body surface as
possible. When the grip point moves away, jaw friction increases, which decreases grip force.
The G, information given above is for zero tooling length (body surface). The graph shows
how force decreases as the grip point moves away from the body surface.

DISTANCE FROM
BODY SURFACE

" ?OTAL GRIP FOR? "

GRIP FORCE CALCULATION EQUATIONS: 10T OOLING LENGTH FACTOR

5, ==

g 0.7 1
TOTAL GRIP FORCE [Ib] = (Pressure [psi] x Gr ) x Tooling Length Factor E g I 1 1 S [ ™ |
TOTAL GRIP FORCE WITH SPRINGS [Ib] = ((Pressure [psi] x Gr ) = Sr [Ih]) x Tooling Length Factor R 1 5

é 0.2
TOTAL GRIP FORCE [N] = (Pressure [bar] x Gr) x Tooling Length Factor p

1 3 5 6 7
TOTAL GRIP FORCE WITH SPRINGS [N] = ((Pressure [bar] x Gr ) + S¢ [N]) x Tooling Length Factor Bl e 1) 02 s e el

TOOLING LENGTH inch [mm]

CAT-08

hd =EE ]
P B www.phdinc.com/grt + (800) 624-8511

OLUTIONS FOR INDUSTRIAL AUTOMATION



DIMENSIONS: series GRT GRIPPERS

SET SCREW
REMOVED

GRIPPER

«—P6 2X K8 +.0005 [H7]

CUSTOMER
SUPPLIED
MANIFOLD

s ors [ | [ iF @ P7
k7 P5 ) \\\I/I//

MANIFOLD PORTING DIMENSIONS
FOR CUSTOMER USE
(DIMENSIONS REQUIRED
ON CUSTOMER MOUNTING SURFACE)

2X ORIFICE DIA (MAY BE USED —1
FOR MANIFOLD PORTING,
SEE PAGE 4-60)

uﬁp ;

L Y
L ] ket
B4 ) J2 + 0007 [H7]
< J12—>  ~—J13
«— P3—>
P B6 RADIUS
— J1+.020[0.5]
— K6 BOLT CIRCLE
- q"ir— . O 2X J5 THREAD
EACH JAW
OPEN j OPEN A\
LA SN N\ S
® ,-/::'J__ L ] ® P4 1€ K5 & H JI
CLOSE \
2X Pt PORTL/;@ |j| coseo\ |~ LoV N/ %»e i 6 £.0010 [n7]
WITH SPOTFACE /// t
s~ h~
— e LS e
N +. - — «—J10
B - k k3> (1500 § "
K4

3X THRU HOLE FOR K1 MOUNTING SCREW
K2 THREAD FROM OPPOSITE SIDE

NOTES:
1) SPRING ASSIST OPTION AFFECTS UNIT DIMENSIONS. SEE PAGE 4-56 FOR INFORMATION.
2) CIRCLED NUMBERS INDICATE POSITION.

80-1¥0

All dimensions are reference only unless specifically toleranced.

i o=
www.phdinc.com/grt - (800) 624-8511 PI'\dE

OLUTIONS FOR INDUSTRIAL AUTOMATION



SERIES GRT GRIPPERS

DIMENSIONS

7l 80 7l 80 7l 80 zl 8p0 7t 8p0° 7l 80 7l 8p0° Tl 80 6d
5y UV Sy UV 1% Ly e 8l ge gl 57 860 52 860 52 860 8d
06 pSe 06 vse 06 vee 08 sie 08 Glg 0L 9z 0L Uz 0L Uz Id
0'88 9r'e 0'69 V4 098 5022 0y ULt §9¢ 187k 008 18kt 0’52 86 0Ll 0Ly 9d
0l 088’} 08 1571 008 181t 02 b6 6l 89/ 091 089 ovl 156 £zl vy 5d
W08 08 J08 J08 J0¢ J08 J0¢ J0¢ W08 J0¢ J0¢ W08 92 92 68 68 td
6P 1A 08¢ %Wt 0°€e 662 | 59z o'k (174 96 012 o8 0Ll 699 5zl 6y £d
0Ll 699 ol 156 0zl uy Sl £y 06 gge’ 5l 560 59 96z 6'G 162 d
dsgs/l  1dN®/L dsgs/l  1dNg/L dsgs/L  1dNg/ dsgs/L  LdNg/L S0XSN 2801 80XSN  Ze-0l 80XSN  Ze-0l SO0XSN  Ze-0l Id
dasISE daoey daoer  daolr daoer dao da00F  davee daoor  davee da008  dasie dd08  dasie da09X dazee X
X08 XGGIE" X0'9 X J9ET X0'9 X 1962 X06  Xgl6l X0G XEL6) X0y X08GH X0 X086k 0 8921 )
08} €8z, 0lbk 180G 00k velv 0'96 6L0°C 06/ 0IFe 0'€9 08v'C 33 901 08¢ 96¥ ]
068t €871 0Lk 180G 002k vely 0'96 6.0°€ 062 0LLe 0€9 08r'2 5es 9012 088 9%6W'L 9
2209l 80£°9 08221 210G 16°€01 160 eres  ele 0789 £69'C 9GYs  8riT e best W6 96T 51
9/'8gl £9r'S AN ovEY 6668 erse 861, 188 9265 €887 vely 098t groy 085k 0582 74N )
529y keg't SL9E ! 0008 8L 002 Sv6 9.6k 8L SLGH 029 66Ck s 056 vIE )l
ddGG2X da00 kX | da06FX dd0SZ X | da06LX dA0S/X | da09kX daGedX | d4d09+X ddGe9X | da0ehX daoosX | ddG6X dasigX da0LX  davee X
SLLXTHN  Elg/L GEXOMN  9k8E SLXOMN 9188 STLXSIN  81-0L/S STLXSN  81-0L/S OLXIN 02/l gOXSN  Ze-0L LOXWN 288 ol
0N 87 EI 915 S al/5 9N Wi N Wi ] 0L# VN £ e F 3
09l 089 ol 156 0zl uy 0t ey 06 vee 0L 9z 0s 16 5y LUV eI
585 £0E2 008 896' 0ty Lt 088 96¥ | §z8 612} 082 €Ll 0'€e 506 691 199 i
0'2S 10T oy £69'} 098 8Iyk 0'82 01k 062 86 0he o8 06l 8yL gl £eg g
50l ey 8 vee 0L 9z GG 9z 0 161 Sy uy 0 s 0t 6L oLr
0'le 02z 0’52 586 022 598 0Ll 699 06l 065 0zl wuy 0k ey 5/ 567 6r
50l el 8 gee 0L A GG 9z Sy Ly 0 St ¢ 8l VLT 8ol 8r
0’8y 068’ 00y GG 0ze 092k 02 90k 02 906 08l 60, 0Ll 029 Tyl 195" or
02 2586 00z v98L 0Ll £899 0l 2056° 0l [i04 001 1268 00l 1268 08 aie or
d006IX  dA0SZX | dAOvEX dag9sX | ddSO0FX daoi'X | ddO00FX dd00yX | daGZX dasec X | das9X ddoSe X | da0SX ddaz6FX | daovX daZSkX
SLLXZHN  El-g/L GLXOMN 918 SZLXSN  81-9L/G OLXIN  0zb/L S0XSN  p2-0l LOXPN 268 LOXYN 268 GOXEN O or
556 09/°¢ 008 grIe 0'89 119 009 98T 005 896" 0y 69T 598 9er T 69 190" T
o 8s1 0 8L 52 860 52 860 02 6.0 0 60 02 6.0 0t 660 er
00k e’ 08 S1E 08 SiE 09 69EC° 09 69E7° 0 2861 0 2851 0 1810 o
0'95 2022 5oy 188t I8 9yt 0ze 092 092 20’k 522 988’ 002 18 €9l oy @3s0T0 e
gesl 962G 0lek 000G 10k 966°C 092 2662 05 wee 0'L8 wee 0'8e 96¥ | Ty =N 98
She 996 08l 80/ 52l 6y 001 £6¢ 5/ 562 0G 6l £ 07 Ty sl et
0s 6l 0 961 0'e 8L 0 IS¢ 52 860 0'¢ 8L 0 s¢ vl 150 v
585 £0E2 008 896' 0ty Lt 088 96¥ | §ze 612} 082 €Ll 0'€e 506 06l 8L £g
506 £95°€ 092 2662 069 6552 098 5022 glp 0.8’k 00y GG 58 6.2k 552 00’k 2
0202 £66'2 0’19k 66€°9 0vek rA 090 &LV 006 erse 0L G882 029 Wh'e 0l 098’} 19
002 18 091 089 0l [ 001 [ 08 Gle 09 987 0 IS¢ 0 8L [T3AVHLMr
ww ul wuw wuw | wuw u ww ul wuw I wuw ul ww ul Wia
X8X1H9 X/X149 X9X1H9 XGX149 XpX1H9 XEX149 XZX149 XIX1H9 LENEL
HIGNNN 130N

80-1v0

Ily toleranced.

www.phdinc.com/grt - (800) 624-8511

Ifica

ference only unless spec

Imensions are re

Al d

phd==E

OLUTIONS FOR INDUSTRIAL AUTOMATION



OPTIONS: stries GRT GRIPPERS

© & 6 HEAVY FORCE SPRING ASSIST

Springs can maintain spring grip force if air pressure is lost
or increase grip force in one specific direction when used with air

GRIPPER

o o CLEARANCE @
pressure. Spring life in excess of 10 million cycles can be expected. IN CAP
For minimum operating pressures and spring grip forces, see table
on page 4-53. -——-—+-——-—1-—3X K9 THREAD
_ ¥
2X @ K10 Z
SEE DETAIL B
3X K9 DEPTH <—
‘ K9 MOUNTING DIMENSIONS
> [ CLOSED ! ,/ DETAIL A
ps ADH———— K5 K7
GRIPPER <103 CLEARANCE @
IN CAP
2X ORIFICE DIA MAY v v
BE USED FOR MANIFOLD -—-=F 2x@ kK10
PORTING, SEE PAGE 4-60. 5
3X @ K9 %Z
SEE DETAIL A
2X K10 DEPTH
K10 MOUNTING PIN DIMENSIONS
DETAIL B
Ce\ @B c5
@ B9 | CUSTOMER
04—‘L (PILOT LOCATOR) ‘ SUPPLIED - rPQ
MANIFOLD % SET SCREW REMOVED
P Y 2
[y 4 ¥ 7
B op7 ops [ ||
cs @ c2 L
1 Z GRIPPER
[ ID) B2
MANIFOLD PORTING DIMENSIONS
FOR CUSTOMER USE
— (DIMENSIONS REQUIRED
ON CUSTOMER MOUNTING SURFACE)
MODEL NUMBER
LETTER GRTx1x GRTx2x GRTx3x GRTx4x GRTx5x GRTx6x GRTx7x GRTx8x
DIM in mm in mm in mm in mm in mm in mm in mm in mm
@ B1 1.850 47.0 2441 62.0 2.835 72.0 3543 90.0 4173 106.0 5.275 134.0 6.339 161.0 7.953 202.0
B2 1.004 255 1.279 325 1575 40.0 1.870 475 2.205 56.0 2559 65.0 2.992 76.0 3.563 90.5
@ B9 MAX 1.0650 271 1.6535 42.00 2.0079 51.00 25591 65.00 3.2283 82.00 40157 102.00 5.0394 128.00 6.2992 160.00
2 BIMIN 1.0610 26.9 1.6490 41.89 2.0034 50.89 25526 64.83 32218 81.83 40092 101.83 5.0329 127.83 6.2927 159.83
C1 1.240 315 1515 385 1811 46.0 2.146 545 2.559 65.0 2913 740 3.425 87.0 4.075 103.5
C2 1.358 345 1.732 440 2.106 54.0 2442 62.0 2.992 76.0 3.524 90.0 4173 106.0 5.059 1285
C3 236 6.0 236 6.0 236 6.0 276 7.0 354 9.0 354 9.0 433 11.0 512 130
C4 118 3.0 217 6.0 295 8.0 296 8.0 433 11.0 611 16.0 748 19.0 .984 250
C5 .015 4 .040 1 .040 1 .050 13 .050 13 .060 15 110 28 135 34
C6 .030 8 .080 2 .080 2 110 28 110 28 220 56 220 56 220 56
K3 374 95 527 13.39 620 15.75 778 19.76 945 240 1181 30.0 1.447 36.75 1.821 46.25
K4 1122 285 1.580 40.13 1.860 47.24 2.333 59.26 2.834 71.98 3.543 89.99 4.340 110.24 5.463 138.76
K5 1.296 329 1.824 46.33 2.148 54.56 2.693 68.40 3.273 83.13 4.091 103.91 5.012 127.30 6.308 160.22
K7 1.496 38.0 2.106 53.5 2480 63.0 3.110 79.0 3.779 96.0 4.724 120.0 5.787 147.0 7.283 185.0
K9 8-32 M4 x0.7 10-32 M5x0.8 1/4-20 M6x1.0 516-18 M8x1.25 516-18 M8x1.25 3/8-16 M10x 1.5 3/8-16 M10x 1.5 1/2-13 M12x1.75
x.394 DP_ x.394 DP x.611DP_ x16.0 DP x.736 DP_ x19.0 DP x.901 DP  x23.0DP x.979DP  x25.0 DP x1.104DP x28.0 DP x1.183DP x30.0 DP x1.512DP  x38.0DP
K10 0.1268 3.0 .1580 4.0 .1580 4.0 1973 5.0 1973 50 .2367 6.0 2367 6.0 3155 100
x.315DP x.315DP | x.551DP x14.0 DP x.551 DP_ x14.0 P x.670DP  x26.0DP x.748 DP_ x19.0 DP x.824DP  x21.0DP X.903DP  x23.0DP x1.132DP  x29.0DP
P5 484 12.3 551 14.0 630 16.0 .768 195 945 240 1.181 30.0 1457 37.0 1.850 47.0
P6 670 17.0 984 25.0 1.181 30.0 1.437 36.5 1.772 45.0 2.205 56.0 2717 69.0 3.465 88.0
@ P7 276 70 276 7.0 276 7.0 315 8.0 315 8.0 354 9.0 .354 9.0 .354 9.0
@ P8 .098 25 .098 25 .098 25 138 35 138 35 A77 45 A77 45 A77 45
P9 .048 12 048 12 048 12 .048 12 048 12 048 12 048 12 .048 12
2 All dimensions are reference only unless specifically toleranced. e
www.phdinc.com/grt - (800) 624-8511 Phda e
S

OLUTIONS FOR INDUSTRIAL AUTOMATION



OPTIONS: stries GRT GRIPPERS

5 PROXIMITY SWITCH READY-
INTERNAL

This option equips the gripper with sleeves to provide for
the mounting of up to three round proximity switches. Target Kits
and Proximity Switches are ordered separately. See Switches and
Sensors section for complete switch specifications. The

adjustable positioning target assembly is protected under U.S.
Patent No. 6019409.

MODEL NUMBER
LETTER GRTx1x GRTx2x GRTx3x GRTx4x GRTx5x GRTx6x GRTx7x GRTx8x
DIM in mm in mm in mm in mm in mm in mm in mm in mm
PS1 4mm ROUND  4mm ROUND ~ 4mm ROUND  4mm ROUND  4mm ROUND  8mm THREADED 8mm THREADED 8mm THREADED
PS2 020 5 020 5 020 5 020 5 020 5 030 .76 030 .76 030 .76
PS3 388 9.86 527 1337 620 15.75 778 19.75 945 240 1.181  30.0 1447 3675  1.821 46.25
PS4 775 1969 1.053 26.75 1240 315 1555 39.5 1.890 48.0 2362 60.0 2.894 735 3.642 925
PS5 1342 34.09 1.824 46.33 2148 5455 2.693 6841 3.273 83.13 4.091 10391 5012 127.30 6.307 160.20
PS6 121 307 142 36.0 122 310 118 300 118 30.0 118  30.0 94 240 98 250
PS7 121 307 142 36.0 122 310 1.04 265 83 21.0 1.18 30.0 94 240 .61 15.5
PS9 555 141 773 196 971 247 1147 2941 1.364 34.6 1524 387 1760 447 2.095 532
PS10 030 .75 030 .75 030 .75 030 .75 .060 1.5 167 425 276 7.0 404 10.25
PS11 157 4.0 157 4.0 157 40 157 4.0 A57 4.0 315 8.0 315 8.0 315 80
SENSING TARGET KIT NUMBER
DIRECTION GRTx1x GRTx2x GRTx3x GRTx4x GRTx5x GRTx6x GRTx7x GRTx8x

JAWS OPENING | 62805-00 62805-01 62805-02
JAWS CLOSING | 62806-00 62806-01 62806-01

62805-02 62805-02 62805-03 62805-04 62805-04
62806-02 62806-03 62806-04 62806-05 62806-05

EACH KIT WILL MOUNT ONE SWITCH.
KIT INCLUDES: 1 PROXIMITY TARGET, 1 PROXIMITY ADJUSTMENT SCREW,
2 TARGET ADJUSTMENT SCREWS

PS2 MAX
SENSING DISTANCE

5/64 [2 mm]
« TARGET ADJUSTMENT
HEX

L el PS11 MAX
4 mm ROUND INDUCTIVE PROXIMITY SWITCHES S ggﬁ\SF:GET WIDTH
PART NUMBER DESCRIPTION Z_%7 (PROX SWITCH)
18430-001-02 | NPN (Sink) 2 meter cable DETAIL A LOCATION OF PROXIMITY
18430-002-02 | PNP (Source) 2 meter cable —[<PS10 MAX SWITCHES

8 mm THREADED INDUCTIVE PROXIMITY SWITCHES
PART NUMBER DESCRIPTION
51422-005-02 | NPN (Sink) 2 meter cable
51422-006-02 | PNP (Source) 2 meter cable

NOTES: 1) (PS10) THE PROX TARGET MAY EXTEND OUT OF THE JAW
WHEN THE JAWS CLOSE. TARGET IS ADJUSTED TO SENSE
LESS THAN .039 [1 mm] MOVEMENT FROM THE FULL
CLOSED POSITION
2) JAWS SHOWN IN FULL OPEN POSITION
3) INSTALLATION OF SWITCHES ON A MOUNTED UNIT
mAFYI)'(\IT(EJTREE POSSIBLE WITHOUT PROPER CLEARANCES

1.18 [30 mm]
4 mm PROX

APPROX LED LOCATION -

SEE NOTE 3 8 mm PROX

SEE NOTE 3

MIN BEND RADIUS

|

PS6

All dimensions are reference only unless specifically toleranced.

phd==

OLUTIONS FOR INDUSTRIAL AUTOMATION

www.phdinc.com/grt - (800) 624-8511

CAT-08



OPTIONS: stries GRT GRIPPERS

1

This option equips the gripper with a spring actuated part
ejector. When grip force is removed, the part ejector can push
the part against a positive stop. This allows accurate part location
and isolates forces due to location within the gripper mechanism,
protecting the rest of the automation device. Spring life in excess of
7.5 million cycles can be expected.

PART EJECTOR

3X & EJ8 (MAXIMUM FASTENER SIZE
WHEN USED WITH CUSTOMER
MODIFIED PART EJECTOR PLATE)
PHD SUPPLIED SPOTDRILL FOR
EASY CUSTOMER MODIFICATION

PART EJECTOR
MODEL | TOTAL SPRING FORCE
NO. Ib N

GRTx1x 3-5 13-22
GRTx2x | 45-84 20-37
GRTx3x | 7.5-11  33-51
GRTx4x 11-18 51-80
GRTx5x | 20-28 88-124
GRTx6x | 27-38 121-167
GRTx7x | 35-56 157 -248
GRTx8x | 74-96 330 -427

«<—EJ14 MAX—> [« EJ10 MAX—|
«—EJ13 MAX— @ EJ1 MAX EJ9 MAX 85%1‘&'(“;“
/ [ B ASSIST
[ ] o
@ EJ2 MOUNTING t-s
HOLE PATTERN . !
E y E 1
! PART EJECTOR — [
1 SPRINGS OMITTED !
L F— @ EJ3MIN FOR CLARITY J L
EJ12 MAX—' <
OPTIONAL SPRING ASSIST MATERIAL THICKNESS
—> EJ11 MIN TRAVEL
PART EJECTOR COMPRESSED PART EJECTOR EXTENDED
MODEL NUMBER
LETTER GRTx1x GRTx2x GRTx3x GRTx4x GRTx5x GRTx6x GRTx7x GRTx8x
DIM in mm in mm in mm in mm in mm in mm in mm in mm
B2 1.004 255 1.279 325 1575 400 1.870 475 2205  56.0 2559 650 2992 760 3563 90.5
D EN 2.330 59.2 3239 82.0 3633 920 4312 110.0 4940  125.0 6.083  155.0 7384 1880 8.983 228.0
dE2 N/A N/A 1.318 335 1510 384 1.892 48.0 2264 575 2784 707 3296 837 4014 102.0
DES 700 17.8 .766 195 872 2241 1.022 25.9 1376 349 1572 399 1924 488 2.458 62.4
EJ4 N/A N/A 330 8.0 378 10.0 473 12.0 566 14.0 696 18.0 824 21.0 1.004 26.0
EJ5 N/A N/A 659 17.0 .755 19.0 946 24.0 1132 290 1392 35.0 1648 420 2.007 51.0
EJ6 N/A N/A 571 14.0 654 17.0 819 21.0 .980 25.0 1206 31.0 1427 360 1.738 440
EJ7 N/A N/A 571 14.0 654 17.0 819 21.0 .980 25.0 1206 31.0 1427 360 1.738 440
D EJ8 N/A N/A #2 M2 #6 M3 #3 M4 #10 M5 5/16 M8 3/8 M10 12 M12
EJ9 1.126 28.6 1.552 394 1966 499 2.275 57.8 2614 664 3.061 777 3572 907 4221 107.2
EJ10 1.362 346 1.788 454 2202 56.0 2.551 64.8 2.960 752 3415 867 4006  101.8 4734 1203
EJ11 062 1.6 121 30 239 6.0 239 6.0 239 6.0 318 8.0 .396 10.1 A74 121
EJ12 062 16 113 2.9 113 29 128 33 128 33 143 37 143 37 143 37
EJ13 1.061 26.9 1.404 35.7 1700 432 2.010 51.1 2345 596 27114 689 3147 799 3718 94.4
EJ14 1.297 329 1.533 389 1.829 464 2.164 55.0 2.577 654 2.931 744 3443 874 4.093 103.9

80-1¥0

All dimensions are reference only unless specifically toleranced.

www.phdinc.com/grt - (800) 624-8511

phd==

OLUTIONS FOR INDUSTRIAL AUTOMATION



ACCESSORIES: stries GRT GRIPPERS

PROXIMITY SWITCHES - EXTERNAL

This accessory provides for the external mounting of round
metal sensing proximity switches. Up to six switches may be
mounted using multiple brackets. The user is required to design

and mount targets for the switch to sense. Proximity Switches are
ordered separately. See Switches and Sensors section for complete
switch specifications.

MODEL NUMBER
LETTER GRTx1x GRTx2x GRTx3x GRTx4x GRTx5x GRTx6x GRTx7x GRTx8x
DIM in mm in mm in mm in mm in mm in mm in mm in mm
EP1 [ 8mm THREADED 8mm THREADED 8mm THREADED 8mm THREADED 8mm THREADED 12mm THREADED 12mm THREADED 12mm THREADED
EP2 1772 450 1772 450 1772 450 1772 45.0 1772 450 2.362  60.0 2.362  60.0 2.362 60.0
EP3 157 4.0 157 4.0 157 40 157 4.0 157 4.0 A57 4.0 157 40 157 4.0
EP4 512 13.0 512 13.0 512 130 512 13.0 512 13.0 669 17.0 669 17.0 669 17.0
EP5 748 190 905  23.0 1.103  28.0 1279  32.5 1.496 38.0 1732 44.0 1.968 50.0 2.303 585
EP6 925 235 1221 310 1418  36.0 1772 45.0 2.087 53.0 2.638 67.0 3170 805 3.977 101.0
EP7 377 96 413 105 419 106 403 10.25 443 1125 512 13.0 492 125 515 131
EP8 702 17.8 738 18.75 744 189 728 185 768 195 935 23.75 915  23.25 938 238
EP9 060 15 105 27 105 27 105 2.7 105 27 105 27 105 27 105 27
EP10 483 12.3 693 17.6 817 208 983 25.0 1.077 274 1433  36.4 1522 387 1.944 49.4
EP11 648 16.5 689 175 688 175 836 212 968  24.6 1.207 30.7 1401 356 1723 438
EP12 30°  30° 25°  25° 22.0° 22.0°  225° 225°  225° 225°  225° 225°  225° 225°  225° 225°
MOUNTING BRACKETS ‘
PART NUMBER | BRACKET NUMBER
GRTx12 61552-01 I
il 61952-02 SWiTeh z%“F/{lll)TEYRED i
GRTx32 61552-03 SEPARATELY) 1M
GRTx42 61552-04 [ =
GRTX52 61552-05 1“0
GRTx62 61552-06 L
GRTx72 61552-07 M )
GRTX82 61552-08 EP10 L
JAWS CLOSED
. ‘
8 mm THREADED INDUCTIVE PROXIMITY SWITCHES EP8 EP2 44
PART NUMBER DESCRIPTION 2X EP3 |
51422-005-02 | NPN (Sink) 2 meter cable EP9 - EP5 —
51422-006-02 | PNP (Source) 2 meter cable
12 mm THREADED INDUCTIVE PROXIMITY SWITCHES
PART NUMBER DESCRIPTION
15561-001 NPN (Sink) 3 meter cable
15561-002 PNP (Source) 3 meter cable
15561-003 VAC Solid State, 3 meter cable
Gripper mounting kits are available. The kit includes three e ] @ l e
socket head cap screws. Part ejector option does not affect o
mounting kits listed below. ﬂ
STANDARD MODEL NUMBER
UNIT GRT112 | GRT512 | GRT122 | GRT522 | GRT132 | GRT532 | GRT142 | GRT542 | GRT152 | GRT552 | GRT162 | GRT562 | GRT172 | GRT572 | GRT182 | GRT582
KITNUMBER | 61620-01 | 62813-01 | 61620-02 | 62813-02 | 61620-03 | 62813-03 | 61620-04 | 62813-04 | 61620-05 | 6281305 | 61620-06 | 62813-06 | 61620-07 | 62813-07 | 61620-08 | 62813-08
FASTENER 540x | M3x05 | 832x | M4x07 | 1024x | M5x08 | 1/420x | M6x10 | 1/420x | M6x10 | 51618 | M8x1.25 | 5/16-18x | M8x125 | 3/8-16x | M10x15
(SHCS) 1-1/4 x25 1-1/4 x30 1172 x40 1-3/4 x45 2 x50 x2-1/4 | x50 2172 X65 3 X80
SPRING ASSIST| MODEL NUMBER
UNIT GRT112 | GRT512 | GRT122 | GRT522 | GRT132 | GRT532 | GRT142 | GRT542 | GRT152 | GRT552 | GRT162 | GRT562 | GRT172 | GRT572 | GRT182 | GRT582
KITNUMBER | 64128-01 | 64129-01 | 64128-02 | 64129-02 | 64128-03 | 64129-03 | 64128-04 | 64129-04 | 64128-05 | 6412905 | 64128-06 | 6412006 | 64128-07 | 64129-07 | 64128-08 | 64129-08
FASTENER 632x | M3x05 | 832x | M4x07 | 1024x | M5x08 | 1/420 | M6x10 | 1420 | M6x10 | 51618 | M8x1.25 | 5/16-18 | M8x125 | 3/8-16 | M10x15
(SHCS) 1-1/4 x30 112 X35 1-3/4 x45 X2 x50 | x242 | x60 X234 | x62 X3 X75 | x342 | x9%0

phdE="B

OLUTIONS FOR INDUSTRIAL AUTOMATION

All dimensions are reference only unless specifically toleranced.
www.phdinc.com/grt - (800) 624-8511

CAT-08



ACCESSORIES: stries GRT GRIPPERS

FINGER BLANKS

This accessory provides jaw tooling blanks which can easily be
machined to meet specific application requirements. Each aluminum
blank has key geometry to precisely mate and align with the Series
GRT Gripper jaw. One finger blank is supplied per kit.

«Fz;l

6
© "ol T
. F3
............... -l O r
N l
2X THRU AND C’BORED ~
FOR F8 SHCS .
— N T
\OF
: \
,/ CUTOUT REQUIRED
- FOR USE WITH
PART EJECTOR OPTION
MODEL NUMBER
LETTER GRTx1x GRTx2x GRTx3x GRTx4x GRTx5x GRTx6x GRTX7x GRTx8x
DIM in mm in mm in mm in mm in mm in mm in mm in mm
F1 1.632 415 2.165 55.0 2.756 70.0 3.150 80.0 4.331 110.0 5.315 135.0 6.299 160.0 8.465 215.0
F2 .500 12.70 625 15.88 625 15.88 750 19.05 1.000 25.40 1.250 31.75 | 1.500 38.10 1.750 44.45
F3 .980 249 1.260 320 1.380 351 1.633 415 1.938 492 2.407 61.1 2.900 737 3442 874
F4 .096 24 196 5.0 157 40 A37 35 196 5.0 157 40 196 5.0 236 6.0
F5 375 95 531 135 .551 14.0 679 17.25 748 19.0 1.023 26.0 1.161 295 1.339 340
F6 .3156 8.0 .3938 10.0 .3938 10.0 4725 12.0 5513 14.0 6694 17.0 7875 20.0 .9850 25.0
F7 0777 20 1570 4.0 1570 40 .2356 6.0 .2357 6.0 3145 8.0 3145 8.0 .3932 10.0
F8 4-40  M3x05 8-32 M4x0.7 8-32 M4x07 | 10-24 M5x0.8 1/4-20 M6x1.0 | 516-18 M8x1.25| 3/8-16 M10x1.5 | 1/2-13 M12x1.75
SHCS x5/8 x16.0 x1/2 x12.0 x5/8  x16.0 x5/8 x16.0 x3/4 x20.0 x1 x25.0 x1 x25.0 x1-12  x40.0
F9 .065 1.65 .065 1.65 .065 1.65 .091 2.30 .091 2.3 133 3.35 133 3.35 157 3.90
F10 541 13.7 490 124 523 13.3 438 1.1 576 14.6 694 17.6 623 15.8 1.048 26.6
F11 .280 741 278 7.0 319 8.1 .388 9.9 416 10.6 535 13.6 .691 17.6 .809 205
F12 110 2.8 A7 43 .328 83 362 92 299 76 439 1.2 480 12.2 517 131
WEIGHT PER MODEL KIT NUMBER*
NUMBER | in  mm b ke GRTxIx | 6289001  62890-11
GRTxIx | 1495 38 059 027 GRTX2x | 62890-02  62890-12
GRTx | 197 50 1205 GRTX3x | 62890-03  62890-13
GRTx3x | 256 65 AT 08 GRTxdx | 62890-04  62890-14
GRTxAx | 295 75 2313 GRTX5x | 62890-05  62890-15
GRTX5x | 394 100 8329 GRTX6x | 62890-06  62890-16
GRTx6x | 492 125 125 .57 GRTX7x | 62890-07 6289017
GRTx7x | 591 150 206 .95 GRTx8x | 62890-08  62890-18
GRTx8x 7.87 200 3.85 1.75 * ONE FINGER BLANK IS SUPPLIED PER KIT.

MANIFOLD SEAL KIT

All Series GRT grippers have manifold porting as standard.
Port plugs must first be removed when using this feature.
See pages 4-54 and 4-55 for dimensions.

MANIFOLD KIT INCLUDES

2 PORT PLUGS

2 MANIFOLD 0-RING SEALS

(THREE KITS REQUIRED TO EQUIP EACH GRIPPER).

(TO BE PLUGGED WHEN
USING MANIFOLD PORTS)

(SHIPPED PLUGGED

MANIFOLD PORTS
FROM FACTORY)

MODEL NUMBER
GRT112 | GRT512 | GRT122 | GRT522 | GRT132 | GRT532 | GRT142 | GRT542 | GRT152 | GRT552 | GRT162 | GRT562 | GRT172 | GRT572 | GRT182 | GRT582

KIT NUMBER:

(STD SEALS) | 61553-01-1| 61553-05-1 | 61553-01-1 | 61553-05-1 | 61553-01-1 [61553-05-1 | 61553-02-1 | 61553-06-1 | 61553-03-1 | 61553-07-1 | 61553-04-1 | 61553-08-1 | 61553-04-1 | 61553-08-1 | 61553-04-1 | 61553-08-1

(FLUORO-ELAS-

TOMER SEALS) | 61553-01-2 | 61553-05-2 | 61553-01-2 | 61553-05-2 | 61553-01-2 | 61553-05-2 | 61553-02-2 | 61553-06-2 | 61553-03-2 | 61553-07-2 | 61553-04-2 | 61553-08-2 | 61553-04-2 | 61553-08-2 | 61553-04-2 | 61553-08-2
0-RING SIZE 1571Dx | 40IDx 157IDx | 40IDx | .157IDx | 40IDx | .197IDx | 50IDx | .197IDx | 50IDx | 236IDx | 60IDx | 236IDx | 60IDx | .236IDx | 60IDx

05908 15CS 059CS 1508 05908 15CS 059CS 15CS 059CS 15CS 059CS 15CS 059CS 15CS 059CS 1508

80-1¥0

All dimensions are reference only unless specifically toleranced.
www.phdinc.com/grt - (800) 624-8511

phd==

OLUTIONS FOR INDUSTRIAL AUTOMATION



	Series GRT Grippers
	Transparent View and Benefits
	Ordering Data
	Engineering Data
	Dimensions
	Page 2

	Options 
	page 1
	page 2
	page 3

	Accessories


